10. The failure rate (λ) of a device is 22 failures per million hours.  Two standby units are added to the system.  Determine the MTBF of the system.
11. Calculate the reliability of a system consisting of one operating unit and one identical standby unit operating for a period of 200 hours.  The failure rate (λ) of each unit is 0.003 failure/hour and the failure sensing switch reliability is 1.0.
12. A system consist of five subsystems with the following MTBF’s:
· Subsystem A:  MTBF = 10,540 hours

· Subsystem B:  MTBF = 16,220 hours

· Subsystem C:  MTBF = 9,500 hours

· Subsystem D:  MTBF = 12,100 hours

· Subsystem E:  MTBF = 3,600 hours

The five subsystems are connected in series.  Determine the probability of survival for an operating period of 1,000 hrs.

13. Ten components were tested for 500 hours, each within prescribed operating conditions.  Component 1 failed after 30 hours;  Component 2 failed after 85 hours; Component 3 failed after 220 hours; And component 4 failed after 435 hours.  Determine the overall composite failure rate (λ) for the system.
14. Suppose that you have the following design data on an equipment item and that, based on this data, you may wish to accomplish a reliability prediction.  What is the predicted MTBF?

	Component 
	Quantity of Parts Used
	Failure Rate (% 1,000hrs)

	A
	16
	0.135

	B
	75
	0.121

	C
	32
	0.225

	D
	44
	0.323

	E
	60
	0.120

	F
	15
	0.118

	G
	28
	0.092


